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Q.P. Code : 13322

Third Semestei‘ B.Com. Degree Examination,
November/December 2019

(B.Com. Regular/Tourism/LS/SP)
(CBCS Scheme — Freshers)
Commerce
Paper 3.4 — FINANCIAL MANAGEMENT

Time : 3 Hours] [Max. Marks : 70

Instructions to Candidates : Answers should be completely in English or in Kannada.

SECTION - A/ayen - @

1.  Answer any FIVE sub-questions. Each question carries 2 marks : (5 x 2 = 10)
QIR @WTL OB HVE-BININ GwZdR. B3 IFN 2 woFn :

(a)

(d)

(e)

(g)

What is Financial Planning?
BHeatA) adecwmdodd mﬁs*aﬁabd BRR.

What is profit maximisation?
YT NOACTT L H0BTETI?

Give the meaning of cash in flow.
BOG 1.9 BOIW LPFS), Jed.

Name the four sources of working capital.
T, TIODF VT3 WOBTYE SoAONYT) BZOX.

What do you mean by Dividend?
€RI9038 DHORTETO?

What is Investment Decision?
BRABE APocT oTBeRO?

The investment of the project is Rs. 2,00,000. Salvage value is 15% and its
Additional W/C is 20,000. Calculate Average Investment.

© odeemdod BARE dwe. 2,00,000 e8N@), ¥TO evvs S00¢y de. 15 ehw), ﬁz&.gddﬁ

o0 F T3 woBmeY Be. 20,000 ﬁﬁ?ﬁ%ﬁ 20030 maﬁwm& 0B HLBOWDO.

1/6



Q.P. Code : 13322

SECTION - B/ agen - :

Answer any THREE questions, each question carries 6 marks : (3 x6 =18)
0IRF)WowTe S BBVt evgd. I3 BB 6 wosrieh:

2.  What do you mean by bonus shares? State the advantages of bonus shares.
Wecsz® Zedoned a0rdesy? wm)ne BRTRONIR), 392

3. Briefly explain any six determinants of a capital structure.
WoBIY DR ab Boeet IDHma Detos 0dnR)wawtse e ©03MYDY, FogHoN SO

4.  Delta Co. is planning to buying a machine. Two alternatives P & Q, each costing
X 50,000. You are required to call centre profitability index (PI) under 10%
Discount rate the expected cash in flows is given below :

Cash in flows (3)

Year Machine P Machine Q

1 25,000 42,000
2 28,000 39,000
3 31,000 36,000

Discount factor @ 10% is as below :

Year : 1 2 3

Discount factor @ 10% : 0.909 0.826 0.751

| den, Fozdodw obodeeTTONDR)  DOeBIeL  odeed), HTB sanva)  Qo@R
/ obodnensdmny B3¢ dwe. 50,000 neaNB) H0BR abodpedssend Ind wyd 303

n’

FINT 03 Mvomazszenid :
sSnsd w¥ B0F) ()

SR abodeesscn P 0oe,eSF0e Q

1 25,000 42,000
2 28,000 39,000
3 31,000 36,000

3YNT Be. 10 533 BOT 3520LBB HOBR 0dr03R,eBTTRNRY woyd ""»Jazari%*dgl OB &HBOVD :

SAF 1 2 3

5833 080 10% : 0.909 0.826 0.751
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S.

From the following information calculate operating, financial and combined
leverages.

Sales Rs. 10,00,000, Variable cost 30%, fixed cost 2,00,000, 10% Debenture
capital is 15,00,000 and tax rate is 50%.

gort ﬁaaé.gddm ©0% ©03NY0W, FTIOINFUWTH, BHTIID S03) mooleeld ésdezs‘m*dgl TOwY
&R0 :

S000et3 Sw. 10,00,000, wreRnoxs 352% 30%, :,ed 3’-*2_, gw: 2,00,000, Be. 10 moIInY
WoBme% Tw. 15,00,000 S03) 3018 g 50%.

Evaluate the future value at the end of five years of the following payments
at 10% rate of interest.

At the end of 1st year Rs. 6,000
At the end of 2nd year Rs. 8,000
At the end of 34 year Rs. 10,000
At the end of 4tk year Rs. 12,000

At the end of 5t year Rs. 14,000

8 IYNS IR, B8 JAFW Idobd Bevwe 10 TGod wWR TBRBS 5 [Aerid
RIS vuo 2,3&)56 dﬁ%ddgl TowO HLBOD :

de. 6,000 SpBOBD SF w033,
. 8,000 Ho@dab SR o B
S 10,000 Sae080b SBF ©03TE,
dw. 12,000 mee@od SR @03 nd
Ox. 14,000 ausad) SI¢ uo\?’gdq

SECTION - C/epr - &

Answer any THREE questions. Each answer carries 14 marks : (3 x 14 = 42)
FINT adoR)merte Saet I3nvn ev3d:. 3,3 IB1 14 wosnieh :

Explain in detail Goals of Financial Management.
BT ISFBHOD wd@eérﬁ#aﬂg{ ADTTZN S0,

What do you mean by working capital? Explain the determinants of working
capital. :
50D F 03 WoBIY HoBTeRL? TT Soeed DR Devos ©03rYR), TR
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9. The information given below is related to “E” Company Ltd.
Initial investment is Rs. 2,00,000
Salvage value is 10%
Economic life of project 5 years

The expected profit before Depreciation and Tax is given below (PBDT)

Year PBDT
1 38,000
2 48,000
3 58,000
& 68,000
) 78,000

P.V. factor @ 10% Discount rate is
Year : 1 2 3 4 5
P.V. Factor: 0.909 0.826 0.751 0.683 0.621

You are required to calculate ARR and N.P.V.
E 3031 30200R28 350&3030 §¢50803003TS

®RB3NY o, 2,00,000
UYE ;Ss"ae%s 10%
2eDTIY 5 IRFND

BOmEIERT, FSTL 03 IO1N03 IRTOS ) (PBDT) 3980803003T :

IR 339 S IOriNo3
20698 ez (PBDT)

1 38,000

2 48,000

3 58,000

4 68,000

5 78,000
Be. 100 38338 ©0 :
33 : ) > 3 4 5

¥@¥30W3: 0.909 0.826 0.751 0.683 0.621

Boees Bty o7, FPSI0 3BT ITY BRI 3P, ) SO 1¢ BOIS oS, Fowd
SBOWD.
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10. The Ranga Co. Ltd. operates its business with a equity capital of Rs. 50,00,000 of

11,

% 100 per share. Co. wants to raise further ¥ 30,00,000 for major expansion

programme with following 4 alternative plans :

(a) All equity shares

(b) All Debentures at 10% interest rate

(c) ¥ 10,00,000 from equity and X 20,00,000 from 10% Debentures

(d) ¥ 15,00,000 from equity and I 15,00,000 from 10% preference shares

The Co. Tax rate is 50%. Calculate E.P.S. of each plan of E.B.LT
is T 8,00,000.

gonl 303Q M0HLAIH) :5,:133 dw. 50,00,000 owxw. 100 a—amfd?s R0y WoBTITBLODT
Fo0DF ISFLROIT). sidi 3R00D ue:;;gjaonaﬁ ma%d:sa dw. 30,00,000 aa:a’zsesﬁ:somdon dY503
4 230 o&meuaﬁﬁ%’a&g{ ©0m3R RN :

(a) b)), RISV, BN Redn¥or S 0d0R)BO.
(b) 2t 30333y Be. 100 FOTI NPT SEOFHTO.

(© ow. 10,00,000 mang, decondosd = evdd e 20,00,0008), e 100
POBINYOT T AT,

(d) o©w. 15,00,000?39=L mz&zfaﬁé Beconon 03y GuIT TLe. 15,00,000:?’»;=L ge. 100 mﬁﬁ_@s
RedonLor IB0IOITO.

gozdab 301t @I Be. 50 eshvy, E.B.LT. dp. 8,00,000 &5d I3 odecwdod =3
RedT ISy, (E.P.S.) T0R) &HBOWD.

From the following information calculate pay-back period of both the machines
Raja and Roja.

Particulars Machine Raja Machine Roja.
Cost of each machine 5,00,000 6,00,000
Life S5 years 6 years
Co. Tax rate 50% S50%
PBDT (profit before Dep. & Tax)
1st year 1,10,000 1,80,000
2nd year 1,40,000 2,10,000
3rd year 1,70,000 2,40,000
4th year 1,60,000 1,90,000
5th year 1,30,000 2,00,000
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